LR - R 12C 7 B HHERT SCL L& —/ 80ns 7275 5 3% Bk b

FAQO0033
i DL ) R

|2CHE S H T SCL A —4N80ns A A B 7 & ik

Questions: Hflt MCU /E MMM, AT32 () 2C XA T, Kik#hb)s, #5H3ERN SCL
H—~ 80ns LA ) kot an R AT

0D AW: 50 ' Data write: 01

Answer:
KRB TAEERERT, MHUAGELE AL BT & i 258 B N RR i SCL 28 530
gk
PL AT32 H interrupt J7 s\ #4F 12C 9%, 7£ ADDR BB, RM I EWF:

Example : I12C Slave receive N bytes from 12C Master . EV2 EV2

EV1 E\"vaa
7-bit address RIW A ?
|S| Address | 0 A |4—>» Datal | A | Data2 | A | ...... | DataN | A |P
SCL
Stretch

RDBF |—| |_| |_|_

10-bit address

R/W

| S| Address Head | 0 | A | Address | A |<—
SCL Stretch EV3
EV2 EV2 EV2
AEvi A A \ +
- Datal | A | Data2 | A | ...... | DataN | A | P

EV1.12C_STS1_ADDR7F = 1, Reading STS1 and then STS2 will clear the I:I Master to Slave S = Start

event. A = Acknowledge
EV2.12C_STS1_RDBF =1 - Reading the 12C_DT register will clear it. P = Stop
EV3. When a stop condition is detected, 12C_STS1_STOPF = 1, reading STS1 Slave to Master

and then writing CTRL1 register will clear the event

ATEVER], MHLE EV SRR 2IIER ) ADDR JaiE Nl SR )EiE SR &7 A7 4% STS1 M1 STS2 iF kk
ADDRF #rEALEA I SCL 2k, XA w Reitpliell. Bt AR 2 AR AL MLAE AL SCL Rl
HIRETR SCL 22k, A B ENUACRS A MAMLACHS 73 Foffgt ke 5 2K

1. WRBSCENAEE, PPAEMNLAEEN 12C i 2I4b 2 5275k ADDRF brab AL Ia], SERS CRARIER BT
ML) — BU 1) 5 P R R A S -

/* wait for the addr7 falg to be set */
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if(i2c_wait_flag(hi2c, I2C_ADDR7F_FLAG, RESET, I2C_EVENT_CHECK_NONE, timeout)!=[2C_OK)
{

[* disable ack */
i2c_ack_enable(hi2c->i2cx, FALSE);
return 2C_ERR_STEP_2;

delay_us(1);

[* clear addr flag */

i2c_addr flag clear(hi2c);

2. WERBSHMHUREY, HFHLK%EE ADDR J5, ULESTMHLE) ACK HAEAF ] 5E i, a5 iy AL IE 7 Ab #E
fl b T R K, T TCVEREN 12C ik, M2siE ik hold SCL A4k, FrLAFEACE 12C b Mk dm s, B3 Fk
FELAE M IS R 12C w140 NVIC 4 bit 734 2:2 4340, % 12C eventinterrupt 6 15 2% 15y 5 i) fe e

/* config nvic priority group */
nvic_priority_group_config(NVIC_PRIORITY_GROUP_2);

/* configure and enable i2c interrupt */
nvic_irq_enable(l2Cx EVT IRQn, 0, 0);

Ak, B ERMEEN 12C KT EIER: ADDRF brEAL 2 B AR, 4508 hold SCL = 26 RS [a], A&l 2]
ADDREF J& 37 BIBATIE bR 7 41 1 «

if(i2c_wait_flag(hi2c, 2C_ADDR7F_FLAG, RESET, [2C_EVENT_CHECK_NONE, timeout)!= 2C_OK)
{

[* disable ack */
i2c_ack_enable(hi2c->i2cx, FALSE);
return 2C_ERR_STEP_2;

/* clear addr flag */

i2c_addr flag clear(hi2c);

F9: 1, HERA 12C hold SCL MLk MM ER (L A R BIS0R, % J I A DT S 2 7 2400 46
RIZR I AL, 9/ hold B[] LA il .
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SKTT BAT ABTR A TR MRS 37 SRR 55 B B AN (1 AR 7 AN AR L 35 A P A S i TR R 10 7 i AR 95 AR SR B AR T B4
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